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EFETHETRAOR
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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 300 338 380 718
EARI1TH 1,046 1,149 1,276 2,425
mAET2TH 1,186 980 1,331 2,311
A R ET 2,366 2,300 2,605 4,905
BERT1TH 623 592 639 1,231
B ERT2TH 395 385 434 819
B ERT3TH 312 357 317 674
B ERTATH 533 475 504 979
B ERSTH 840 891 871 1,762
I ER6TH 379 388 414 802
HiF = HT 540 568 614 1,182
45 KHT 532 599 626 1,225
HHT 1,006 1,072 1,187 2,259
BEHT 52 54 56 110
A K BT 604 677 706 1,383
7 HT 442 437 450 887
RILHT 460 464 522 986
FORHET 205 184 217 401
RFHT 203 200 229 429
KHET 358 319 367 686
KET1TH 239 238 281 519
XKET3TH 292 329 324 653
XETATH 873 797 980 1,777
fit] LLI BT 2,472 2,744 2,895 5,639
JE LT 981 1,076 1,176 2,252
EHERT2TH 317 450 440 890
EHERISTH 432 528 516 1,044
EHERT4TH 393 462 496 958
EHERSTH 351 398 447 845
EHERT6TH 210 288 273 561
EAERET7TH 168 248 257 505
=Y:i 340 330 357 687
8 [F T 1,655 1,451 1,686 3,137
=i ET 516 539 625 1,164
2l 3t BT 475 559 548 1,107
N =15 101 108 119 227
+HEFRT A 641 634 697 1,331
L EFHTER 844 743 832 1,575
L HAET 1,958 2,076 2213 4,289
LFH¥ABT1TH 73 117 113 230
LH¥\ET2TH 161 164 180 344




HEZ HH 5 £ i
LFEI3TH 154 155 161 316
LF#ET4TH 164 176 199 375
LHABTS T B 215 256 295 551
I == HT 199 206 221 427
JN=FRT1TH 562 543 525 1,068
Mn=rET2TH 546 508 564 1,072
JO=fET3TH 427 435 410 845
JN=FRT4TH 1,063 1,044 1,086 2,130
I S5k T 586 578 650 1,228
I=F5di) 217 202 243 445
Jt B BT 29 34 37 71
B[] 407 354 346 700
fHZaE T 830 913 989 1,902
FHRHET 80 75 90 165
1 2 FF T 361 388 415 803
BEFE1TH 95 117 125 242
BEFE2TH 278 305 326 631
T EHT 125 131 132 263
/N BB T 3,128 3,063 3,254 6,317
1R T 268 278 309 587
YEZF HT 771 745 774 1,519
EXBI1TH 271 250 269 519
=4 ILHT 217 160 129 289
Hh ek HT 26 26 4 30
Tt AT 11 16 12 28
THHEE1TH 729 640 692 1,332
THHEE2TH 535 547 531 1,078
THHEESTH 858 890 1,036 1,926
TEHE1TH 173 174 169 343
TEHRI2TH 807 736 846 1,582
TEHRISTH 173 180 189 369
TEHRI4ATH 97 112 118 230
TEHRISTH 207 228 232 460
T HAET 522 532 566 1,098
THET1TH 344 341 354 695
THET2 T H 461 419 471 890
TH#RBI3TH 196 186 216 402
THABTATH 157 144 176 320
TH#RBI5TH 170 179 205 384
TH#RI6TH 142 169 167 336
HTAEHET 16 15 8 23
ikl 186 199 178 377
#8)11 HT 46 45 51 96
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HEZ HH 5 £ i

R IHT 293 309 325 634

7B KHT 1,649 1,614 1,760 3,374
&)1 HT 263 314 293 607
XHILET1TH 820 704 887 1,591
XHILET2TH 318 344 367 711
X#ILET3TH 152 143 162 305
18 R T 44 67 72 139
hHET1TH 395 417 411 828
hHET2TH 464 460 514 974
hHET3TH 460 503 502 1,005
niEld:) 254 217 264 481
th 2 JEHT 217 194 219 413
ch T 136 129 166 295
FRAHT 778 849 848 1,697
At FAET 887 871 987 1,858
75 K ERET 778 933 981 1,914
75 2 [N HET 1,695 1,791 1,942 3,733
A 917 857 958 1,815
$FHET1TH 540 480 503 983
$FHET2T H 399 380 428 808
¥FHETST B 195 198 221 419
T 166 208 218 426
HET1 T B 388 475 493 968
HET2 T B 342 350 401 751
HET3 T B 354 375 428 803
HET4 T B 126 119 148 267
J\ & T 995 1,049 1,088 2,137
J\ EHHT 156 189 186 375
+ A ERT 247 275 302 577
T A HT 1,620 1,586 1,799 3,385
THB1TH 25 21 19 40
THRB2TH 1,473 1,310 1,343 2,653
T4HBI3TH 199 174 165 339
THRBI4TH 370 292 362 654
T4RB5TH 926 615 919 1,534
T4HBI6TH 681 683 724 1,407
THRI7TH 350 362 411 773
T4HBISTH 372 389 417 806
THRBOTH 416 448 498 946
THB12TH 237 254 269 523
T+4R13TH 317 363 380 743
o NIEL] 1,959 1,659 1,911 3,570
HARRHET 1422 1,275 1,161 2,436
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HEZ HH 5 = 5
F AR K/ ET 295 363 386 749
EH AR ERT 167 164 168 332
- WNEL] 133 120 134 254
FH AR hHET 205 223 259 482
FHARAKHET 446 461 497 958
& AR EHT 312 322 364 686
HARE)IIHT 273 254 287 541
=N ] 108 118 129 247
FH AR JTHT 100 98 107 205
EARERHE 685 577 643 1,220
B K BRHET 387 399 409 808
Edsa] 886 870 1,004 1,874
BEFET1TH 760 729 743 1,472
BEIFRI2TH 584 586 667 1,253
BEFRISTH 347 406 408 814
Al Ffr BT 1 2 1 3
AIFTET1TH 428 386 421 807
AIFFAT2T B 598 595 671 1,266
AIFTEISTH 667 748 813 1,561
A HT 184 196 185 381
H_LH 247 312 333 645
NER) 794 736 810 1,546
ERL 787 935 940 1,875
= HHT 1,724 1,882 1,943 3,825
HETHRET1TH 573 597 640 1,237
HETIRET2TH 521 596 632 1,228
HLIREISTH 295 371 366 737
P fx T 319 356 384 740
mERI1TH 1,173 1,112 1,256 2,368
mERI2TH 857 950 1,048 1,998
FA T 1,358 1,358 1,507 2,865
= RITET 517 478 531 1,009
= AHT 354 289 322 611
AR#4HT 7 5 4 9
) 516 559 499 1,058
SHET1TH 714 616 759 1,375
S HET2TH 402 433 464 897
aHEI3TH 861 728 882 1,610
S HET4TH 773 615 818 1,433
E& T 1 1 0 1
J\IRET1TH 217 247 268 515
J\BRET2T B 220 215 233 448
J\BRET3T H 247 304 313 617
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HEZ HH 5 = 5

1TE R 299 414 399 813
FIEIET1 T B 161 188 195 383
FIEIET2 T B 302 431 462 893
FIEIBISTH 112 179 174 353
FEOER1TH 165 252 241 493
FENOER2TH 0 0 0 0
FENDERITH 19 17 2 19

BE: 89619 | 90440| 98,143 | 188583
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